TS 9TS: —13
JEARIIUE HETH

ST T : 31 | TgasharqaIshlc AT, STehT: -9

TANTRIET: = ToNHE ¢uTieeh IgHI=I| 3T AT JTa1atyl Hawd givd waftd |

T STEHTeh HUSAS BT :9afd |

TATEHH Tl S8 J&T: TF STEHTeh IR0 HaT=d | J&IT: ST 0Ery J=s(=d |
ST SR HHSST J&TT Heedl dfvid ddd | 3T Ty &I -
TR FuiH el 31T |
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JeT: | ohael ATy , AU = T, WMk, Bell AT TRHARITH TEH, HETH =

ToT=l | ITEHTR TSR O T J&M0 S0 T8 I = T e |

3A: JETOT FGUAT T STEATH: Y Aeresad qu1 TRV Faedd_ | 1 Ja: 998

o N cC—~ N
RIS YIhTH hell=d | 3Td TR -

SR Faf-d fa8f-a Ty |

HATITY qUATT J&IT: Feges 39 ||

I. Meaning:
9. YUEE: R T 3. WEEd: ¥, Ui 4. JaR:
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II.

I1I.

Opposite:

Split:

fowfia . TRIEEH 3. HguEm
pIcEEze 4.  TIRREE & TARAH
Choose:

YA g A | FA0I [ HATTH)
JATTAAH  9afd | (31H: /)

e fowd sfae IR | (9 /ge:)
SFEATR: AN <hefea |( STRIMOR /e )

g I | (e /STHar)

Answer the following:

LT HE 7T TR 7 3. STEHTH o 3gHf ?
T a7 TSR < IR Haf=d ? ¥. JET: S T=si 7
FEHT TTsh e foh Felf 7 &. & HEcd foRy ?
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JIHIEN:

HEIHTRY:

JUHIEN:

HEIHRY:

JUHIEN:

AR EL (S
)

Tehaaq fga=mm EREEELY
I A it
HIATY HII: HIY
T ST ST

(¥4

Tehaaq fga=amm EREEEL
Hiersatd BICIOKE st
SICERIT] e oY
HlersTH Hfsa: s

(4m)

Tehaay fga=amm EREEELY

RESIT T Rt
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